NAME - = DATE _

Lesson Quiz 18-1
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!
DIRECTIONS: True/False In the blank, indicate whether the statement is true (T) or false (F). /

1. People like to be together to reduce uncertainties about themselves,

2. Psychologist Karen Rook found that the support of friends can help reduce very high stress but not
help much with average amounts of stress.

3. The closer people are geographically, the less likely they are to interact in meaningful ways that
lead to the development of a friendship.

4. Jared’s friend bought him lunch when he couldn't afford it. This exemplifies an instrumental reward.

5. Both men and women view physical attractiveness as more important when choosing a marriage
partner than when choosing a casual friend.

DIRECTIONS: Multiple Cholce Indicate the answer choice that best completes the statement or answers
the question.

6. Laura is in a state of high anxiety. The anxiety will tend to produce a need

A. to be left alone. C. to run away.
B. for complementarity. D. for companionship.

7. What is true concerning physical attractiveness?

A. An attractive child is more likely to be deemed “bad” for misbehaving than an unattractive child.

B. People generally try to marry the most attractive person they can.
€. Men’s behavior is affected more by physical attractiveness than women’s behavior.

ford

D. When obese people interview for jobs, they are often discriminated against.

8. Your friend Ron is an excellent guitarist who often asks you to come hear him play. Ron has

A. stimulation value. C. utility value.
2 B. proximity value. D. ego-support value.

9. The amount of stress Hannah Is currently under is low for an average teen. According to Karen
Rook’s research, what will happen if her friends offer her support?

ies, Inc P

A. She will ignore her friends.
B. Her friends will make her stress worse.

C. Her friends will reduce her stress.
D. Her friends will reduce her stress at first, and then later they wili make it worse.

10. George has become friends with Martin, a coworker, even though at first he thought they had little

In common. How do you explain this?
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A. People who work together are likely to come from similar socioeconomic backgrounds.

B. People are likely to work with others whose interests and hobbies are similar to theirs.

C. People become familiar and comfortable with coworkers because they see them every day.
D. Many people do not have time to develop friendships outside of work.
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DIRECTIONS: True/False In the blank, indicate whether the statement is true (T) or false (F). !
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Later information influences a person’s perception of another person more than first impressions.

Developing a schema for a person we know allows us to explain a person's past behavior and
predict the person’s future behavior.

Explaining an event based on an individual's perceived personal characteristics is called internal
attribution.

- Roberto Is from Latin America. He most likely stands closer to a companion during a conversation

than does Martha, who is from the United States.

People typically have a clear idea of the nonverbal messages they are sending.

DIRECTIONS: Multiple Choice Indicate the answer choice that best completes the statement or answers

the question.
6.
7.
8.
9.
10.
208

Rochelle is told that a teacher is very demanding. The next day, she is told the teacher is fair and
knowledgeable about his subject. When evaluating the teacher after class, Rochelle describes him
as demanding, distant, and unapproachable. Which of the following explains this situation?

A. attribution theory C. primacy effect
B. assumed-similarity bias D. halo effect

Why are North Americans more likely to make fundamental attribution errors than the Japanese?
A. North Americans have a more individualistic culture.

B. North Americans have a more collectivistic culture.

C. North Americans have an assumed-similarity bias,

D. North Americans are less friendly than Japanese.

Because a student in her history class gets all A's, Mrs. Jarman is not surprised when that student is
elected class president. What phenomenon does this exhibit?

A, attribution theory i C. stereotyping
B. assumed-similarity bias D. halo effect

Julle has developed a schema for men that includes the idea that they are all good at math. This is
an example of a(n)

A. attribution theory. C. stereotype.
B. assumed-similarity bias. D. halo effect.
Proxemics

A. is a method of interpreting nonverbal communications.
B. describes the physical comfort zone between peaple.
C. can lead to a fundamental attribution error,

D. is another name for the primacy effect.

Understanding Psychology

D HIH-WSOW 4L @ 3yBikdos

d U]

o1p

P sog




inc. P

Copyright © The McGraw-Hill C

NAME

. DATE . CLAss

N
Lesson Quiz 18-3 _ _n_e_t!n!rks

Individual Interaction

DIRECTIONS: True/False In the blank, indicate whether the statement is true (T) or false (F). o/
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When children begin developing friendships with people outside their family, they follow a set of
rules established by thelr peer group.

. Many people have a hard time adjusting to marriage because they have unrealistic ideas about love.
» Zick Rubin’s three components of romantic love are need, caring, and physical attractiveness.

. Ronda has just finalized her divorce. According to psychologist Mel Krantzler, Ronda will need to go

through a period of mourning that lasts until she realizes that she has survived.

In an intimate relationship, companionate love is more likely to come before passionate love.

DIRECTIONS: Multiple Choice Indicate the answer choice that best completes the statement or answers

the guestion.

6.

10,

Maost Americans believe that

A. the best reason to marry is for companionship.

B. the best reason to marry is for financial stability.

C. itis important to love the person whom you marry.

D. it is not important to love the person whom you matry.

. Jim thinks of Jeri constantly and fears she wiil leave him for someone else. What kind of love is this?

A. companionate C. long-term
8. passionate D. triangular

Which of the following relationship scenarios is an example of endogamy?

A. Dante and Rose relate well to their families, and both of their sets of parents are happily married.
B. Nelson and Teresa both grew up in the same nelghborhood and practice the same religion.

C. Donna had a happy childhood, while Shermarys parents divorced when he was ten years old.

D. Anugrew up as a practicing Hindu in India, while Gary grew up in lowa and is a Roman Catholic.

Len has an attachment to Joanne and misses her when she is not around. According to Zick Rubin,
which of the major components of romantic love Is he exhibiting?

A. caring C. need
B, respect D. intimacy

What is the main reason that parent-child conflicts occur during adolescence?

A. Parents often want their children to continue on in higher education, whereas children may be
eager to get out into the real world,

B. Parents and their children have had different experiences growing up.
C. When children reach adolescence, their parents cannot offer the stability of early childhood.

D. Adolescents' desire for independence struggles against the realization that their parents can
offer stability in their lives.
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